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X2 HEH + A
iy Bt ik
XX 1,915 4,443 2,167 2,276
X 3,387 7,879 3,910 3,969
X et X 575 1,499 743 756
REXFEtX 517 1,468 702 766
LREHE 604 1,748 863 885
A&t 6,998 17,037 8,385 8,652
XX XX
ITEX £ HEH H E z TRRXA T
BE 46 107 50 57 Bl 31 92 50 42
BES& 601 1,351 651 700 HE 152 398 196 202
RE 19 32 11 21 XE 159 444 221 223
AR 87 230 112 118 AT N 233 565 276 289
FIRE 95 233 17 116 INET 575 1,499 743 756
TREE 832 1,831 904 927
LER 65 192 94 98 EXHE
TEIR 22 69 35 34 THX4 T
T 18 48 24 24 Pk 87 250 125 125
HiTEHE 61 165 78 87 B 70 205 94 111
HEY 69 185 91 94 Hha 110 316 160 156
Nt 1,915 4,443 2,167 2,276 ST 73 196 92 104
2% H 64 202 92 110
kil ]1p. i) In#ARERE 106 282 129 153
THRXZ TH AL B 2 = RELFTH 7 17 10 7
T AH 10 27 14 13 INEE 517 1,468 702 766
HNTE 97 248 121 127
EE 18 52 21 31 ATHAME
i 73 175 82 93 THR A K
55 221 547 249 298| |LAEHE—TE 113 320 151 169
meE 258 522 280 242 LAEHE-TH 44 142 78 64
Lt 74 164 74 90| [FAEFHE=TH 165 489 239 250
THNTE 126 299 155 144 [BAEHEWTAH 149 422 209 213
AR 35 89 46 43| |[HREBERTH 133 375 186 189
=&Z| 16 25 16 9 INEE 604 1,748 863 885
HEO# 245 572 288 284
—a—aoy 818 1,817 898 919
ILyiaioy 917 2,025 1,017 1,008
I\IBE 151 327 155 172
AFE 14 46 23 23
Jt.488 4 15 9 6
mEQE1TH 130 397 190 207
mEQE2TH 180 532 272 260
INEE 3,387 7,879 3,910 3,969




